N = 0l & AF & F Al A

A AR =X B

H: I ZMEEH(AMISX/IZHNESE)
Sl MASHSAS Y 2 a8t = (&te @2
_ _ bSNE =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
Ab2l = X ot 491,521,988 482,905, 100 8,616,888
= 348,368,472
pJ 500,000
=2 22,691,425
[= 119,962,091
I ZMESH (A EX /I ZHMEDBE) 300,843,400 314,241,737 A 13,398,337
= 275,772,045
[= 25,071,355
MASHEAME I OHH S S 300,843,400 314,241,737 13,398,337
= 275,772,045
[ 25,071,355
2O ZMESES IO X (MH) 193,897,042 202,557,063 18,660,021
= 178,296, 130
[= 15,600,912
308 At XIEHHISO0I A 193,897,042 202,557,063 A8,660,021
= 178,296, 130
[= 15,600,912
01 HXSHHBAEERZ 193,897,042 202,557,063 8,660,021
ORI MBSO (MHASAH) 193,897,042
= 178,296, 130
[= 15,600,912
2O ZMEEHSAHX(Z=H) 43,458,218 50,647,310 A7,189,092
= 39,961,580
[= 3,496,638
308 XHXISHMI SO0l & 43,458,218 50,647,310 A7,189,092
= 39,961,580
[= 3,496,638
Ol AIXSHIANEERS 43,458,218 50,647,310 A7,189,092
ORI ZMEZNH(Z=HSA) 43,458,218
= 39,961,580
[= 3,496,638
IO ZMEEH AU (NS) 7,872,717 7,170,492 702,225
= 7,239,280
[~ 633,437
308 XHXIEHMI SO0l & 7,872,717 7,170,492 702,225
= 7,239,280
[= 633,437
01 HXSHBAEEXZ 7,872,717 7,170,492 702,225
O20DZMESH(NE20) 7,872,717
= 7,239,280
[= 633,437
ZO|ZMES IO KR (HAET) 1,464,678 1,589,630 A 124,952
= 1,346,830
[~ 117,848
308 XHXISHMI SO0l & 1,464,678 1,589,630 124,952
= 1,346,830




SA: ALEIS XD
I ZMEEH (M
Bl MASHSA L &S (chel-&E

_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2

< 117,848

01 HXHHBAZES 1,464,678 1,589,630 124,952
R0 ZHEZ 0 (HAZHMS0) 1,464,678
=2 1,346,830
= 117,848

2SN 3,945,815 3,945,815 0
2 3,628,335
= 317,480

308 Xt M S0 & 3,945,815 3,945,815 0
2 3,628,335
= 317,480

01 IR A XS 3,945,815 3,945,815 0
OAS =X XA 3,945,815
=2 3,628,335
= 317,480

Yegasol e 6,790,552 7,165,676 ~375,124
=2 6,670,269
= 120,283

308 X+ £ H S0l & 6,790,552 7,165,676 N375,124
2 6,670,269
= 120,283

01 RXISHZ A XS 6,790,552 7,165,676 ~375,124
BEEI SN 6,790,552
= 6,670,269
= 120,283

MNEZXESMHEARSQAX Y 1,188,489 1,083,965 104,524
2 914,222
= 274,267

308 X+ M S0 & 1,188,489 1,083,965 104,524
2 914,222
= 274,267

01 RSB A XS 1,188,489 1,083,965 104,524
OASISXSEMEARS2AT S 1,188,489
=2 914,222
= 274,267

ZZEXNHLHHN L 166,842 122,148 44,694
=2 128,340
= 33,502

308 X+l £ HI S0l & 166,842 122,148 44,694
2 128,340
= 33,502

01 HXEHBAEES 166,842 122,148 44,694
O3B LHANL 166,842
2 128,340
< 33,502




A AR =X

MM ) ZMBEI(AMSEN/IZNERE)
CHelr HASHEAB G E LSS EER:E]
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
THE 22 ALY 29,250,401 28,212,680 1,087,721
=2 27,893,030
= 1,357,371
308 XHXISHHI SO & 29,250,401 28,212,680 1,087,721
= 27,893,030
= 1,357,371
01 X SHHZAEED 29,250,401 28,212,680 1,087,721
OXg22AY 29,250,401
=2 27,893,030
[ 1,357,371
THE A2 1,976,050 1,149,523 826,527
=2 1,821,000
= 155,050
308 Xt X EHHIS 0| 1,976,050 1,149,523 826,527
= 1,821,000
= 155,050
01 X SHHZAEED 1,976,050 1,149,523 826,527
OxgsH2x 1,976,050
= 1,821,000
[ 155,050
TA XM 2SS K| 3,463,741 3,298,801 164,940
=2 3,011,949
= 451,792
308 XX EHHIS 0| 3,463,741 3,298,801 164,940
= 3,011,949
= 451,792
01 HXISHBEAEES 3,463,741 3,298,801 164,940
XIS XHE M H 228 X2 3,463,741
= 3,011,949
[ 451,792
RHEH AL & Of X} X 2HBHOI G 20,000 12,000 8,000
307 ©12+0| & 20,000 12,000 8,000
10 ABI=X2 % 20,000 12,000 8,000
CIXE 2 AR & OF X K& 8Ot 20,000
IIAIFE C 20| A 1,184,719 1,092,937 ~108,218
=2 1,050,000
[ 134,719
308 XHXICHHI S0 & 1,184,719 1,092,937 108,218
=2 1,050,000
= 134,719
01 MBS ES 1,184,719 1,092,937 108,218
CIJHARVE S R 0[AHY 1,184,719
= 1,050,000
= 134,719




SN
X XH .
S Tt

el

At = X ot
I ZMEZFH(A
3

MNASHSA

HEAC =
SN - B S (31) Abou i HIRE
NEPERIEEE 200,000 150,000 50,000
403 XtXIEHHI S XHE 0| H 200,000 50,000 50,000
01 MIXEHH =2 X 200,000 50,000 50,000
EIEIERIZEH 200,000
slyIlgs® 2,801,042 2,327,948 473,004
2 2,597,393
= 203,649
308 XHXI A SO0l & 2,801,042 2,327,948 473,004
2 2,597,393
= 203,649
01 MHXISHBAEES 2,801,042 2,327,948 473,004
Oslgiless 2,801,042
2 2,597,393
= 203,649
KIS R S BAR 4 57,024 62,208 A5, 184
308 XHXIEH KIS0 57,024 62,208 A5, 184
PR EPEESS 57,024 62,208 A5, 184
EPNEPERIZEINp S 57,024
OF24+Y 80,0008 *1322 1204 B +30/ 100 38,016
OXZ4Y 40,0008 »1322 <1204 B %30/ 100 19,008
SELINESES> 1,638,409 1,491,007 147,402
2 1,146,886
= 491,523
308 XtXIEHH SO0 1,638,409 1,491,007 147,402
2 1,146,886
= 491,523
01 X SHBAEES 1,638,409 1,491,007 147,402
ORgoALey 1,638,409
2 1,146,886
= 491,523
IEMBERUYBRAYTS 10,000 0 10,000
201 Yer2 | 10,000 0 10,000
03 AL 2t 10,000 0 10,000
mPEXELE1S0= 10,000
SgeAEIlseY 86,841 0 86,841
2 66,801
= 20,040
403 X XIEHHI S X2 0] & 86,841 0 86,841
2 66.801
= 20,040
01 MHXESH =2 E 86,841 0 86,841
ECEENEPELE 86,841




A AR =X

BE: J|ZMBBE (AN ZMBEY)
ol HASHEASI NN YSE (ol &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O] Ak 4 Sl ko HRE2
= 66,801
= 20,040
MNASESEsH4ALHXA 216,000 216,000
308 XXM SO0IA 216,000 216,000
01 HXHHBAEES 216,000 216,000
ONASEES S EIXL
30,0002 8,000} 7 ¥32 *30/ 100 216,000
MASSFHSEMEAEY 225,000 225,000
403 XXM S X201 ™ 225,000 225,000
01 RtXIESH 2L X 225,000 225,000
OMASEEHSL LA 205,000
DaelMYE2S g R 41,400 41,400
308 XXM SO0IA 41,400 41,400
01 HXHHMBEHEXZ 41,400 41,400
mEPNIPR=YE pe
6,000, 0002 *23J4 2~ *30/100 41,400
MNASFUALEESHEI QLY EEHSAZAE 800,640 800,640
308 XXM SOIA 800,640 800,640
01 IXNHHMBAEES 800,640 800,640
OMASFRALEESIHIIRAEH =X 800,640
2 A= C O A IR 50,000 50,000
301 Yo A3 50,000 50,000
01 Al EEH =062 50,000 50,000
OSSR AANRRESE 12,000
O M ANLANKNREEERZS 38,000
SEUASTAIE LA X 4 ZH| 3,780 4,680
308 KX SHHMSOIA 3,780 4,680
01 HXHHBLEEXS 3,780 4,680
EEEIE PP ETET=T
30,000 *420Z %30/ 100 3,780
I ZMESHARFA 34,000 34,000
201 et2Ad| 18,000 18,000
01 AR 2t eld| 18,000 18,000
L et=ZH| 15,000
OIEMERBEADABILSY 15,000
Ol =l 1,000
ONMsTERaRE 1,000
(IE==g:] 2,000
OMHBRALS ST S AL 2,000




SN
X XH .
S Tt

el

NIy
I ZMEEE(A
3

MNASHSA

_ HE T
SN CR(EH) - NRAY - BES 0il & o e HlE2
202 O4H| 11,000 11,000 0
01 LA 11,000 11,000 0
=82 ERFIAH 11,000
203 H =&l 5,000 5,000 0
03 Al F=A AR 5,000 5,000 0
00252 5,000
ORI =SXSE (MEISX/FHLAHEXRA) 103,277,321 92,824,947 10,452,374
= 60,333,509
Jl 500,000
=2 18,055, 141
= 24,388,671
YOI Mot H XA 61,051,397 52,865,177 8,186,220
= 53,970,089
< 7,081,308
B HS XA 27,629,909 27,857,118 A227,209
= 25,053,026
= 2,576,883
308 AtXISHMSO0I & 27,629,909 27,857,118 N227,209
= 25,053,026
= 2,576,883
01 HIXHHBLEEXS 27,629,909 27,857,118 N227,209
O HAS K& 27,629,909
= 25,053,026
= 2,576,883
=X 9,799,547 9,259,771 539,776
= 8,683,143
= 1,116,404
308 AtXISHMSO0I & 9,799,547 9,259,771 539,776
= 8,683, 143
= 1,116,404
01 HXHHBLEEXS 9,799,547 9,259,771 539,776
O MH=+==X& 9,799,547
= 8,683,143
S 1,116,404
ZOoHelo 2 HIXI& 2,670,300 2,038,579 631,721
= 2,484,000
< 186,300
308 AtXISMIS 0l & 2,670,300 2,038,579 631,721
= 2,484,000
& 186,300
01 HXHHBLEEXS 2,670,300 2,038,579 631,721
ool = HI K& 2,670,300
= 2,484,000
= 186,300

»




N En
D RN S A (A= X /H A H ST )
DRI E QL E K|

== O

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod i =%

0§ Q1 Kt LA 1| K| 51,502 72,641 A21,049
= 47,993
= 3,599

308 X+ XI &+ HI S 01 ® 51,502 72,641 A21,049
= 47,993
= 3,599

01 HXSHHBARES 51,502 72,641 A21,049
1 0§ @1 XA Bt | X & 51,502
= 47,993
= 3,599

S LIRS EmEs 77,400 87,075 19,675
= 72,000
= 5,400

308 XX EHHIS 0| ® 77,400 87,075 19,675
= 72,000
= 5,400

01 X SHHBARES 77,400 87,075 19,675
BESRIEE Sk 77,400
= 72,000
= 5,400

0§l SZ R S| K| 2 31,899 45,870 A13,971
= 21,266
= 10,633

308 XX IS 01 & 31,899 45,870 A13,971
= 21,266
< 10,633

01 HXSHHBARES 31,899 45,870 A13,971
OSSR S X & 31,899
= 21,266
= 10,633

SO EFOHQIFENEAS 359, 100 359, 100 0
= 256,500
= 102,600

403 X+ XI A S XH2 0 & 359, 100 359, 100 0
= 256,500
= 102,600

01 RHIXSH =SS 359, 100 359, 100 0
(s ZEZ0HOI =N T ALY 359, 100
= 256,500
= 102,600

ZOfIAHIAZYA0IZEXH 160,804 75,638 85, 166
= 140,616
= 20,188

308 X+ XI £+ S 01 & 160,804 75,638 85, 166
= 140,616
= 20, 188

~




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

CHol: HOfQIABOIY X (oA
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2

01 HXSHBARES 160,804 75,638 85, 166
DX OHQIAHIAIA A0S 2K 160,804
= 140,616
< 20, 188

HHQISEXR(HIRY) 16,364,286 3,705,879 12,658,407
= 14,500,000
= 1,864,286

308 XX/ EHHIS 0| ® 16,364,286 3,705,879 12,658,407
= 14,500,000
= 1,864,286

01 X SHBARES 16,364,286 3,705,879 12,658,407
DX QIS (R 16,364,286
= 14,500,000
= 1,864,286

CHHENOISHHMZEE A 68,800 0 68,800
= 64,000
= 4,800

308 XX/ EHHIS 0| ® 68,800 0 68,800
= 64,000
= 4,800

01 HXSHHBAEES 68,800 0 68,800
O SH NI SHHME XS X 68,800
= 64,000
= 4,800

0§ QIS X X2l Kl 2 1,115,654 848,476 267,178
= 858, 195
= 257,459

308 XX/ EHHIS 0| ® 1,115,654 848,476 267,178
= 858, 195
= 257,459

01 HXSHHBAEES 1,115,654 848,476 267,178
BENIEEIP D! 1,115,654
= 858, 195
= 257,459

OIS E T 0| K2 ALY 2,308,703 2,265,793 42,910
= 1,710,150
= 598,553

308 XXl EHHIS 0| ® 2,308,703 2,265,793 42,910
= 1,710,150
= 598,553

01 HXSHHBAEES 2,308,703 2,265,793 42,910
CIZOHQI# R & 20| X & A S 2,308,703
= 1,710,150
= 598,553

ZE G AIZE T 0N QI OFOFANIH A ALY 99,000 99,000 0




N En
D RN S A (A= X /H A H ST )
DRI E QL E K|

== O

SNBSS - MEAY - BES

[
2

20
B
2

= 79,200
= 19,800
308 XHXI EHRIS 01 & 99,000 99,000 0
=2 79,200
= 19,800
01 HXSHZARES 99,000 99,000 0
CZZ A2 S04l O DHARIF2 ALY 99,000
2 79,200
= 19,800
SHS D ASH Q2 Bt X & 41,000 41,000 0
308 Xt X EF K S 01 & 41,000 41,000 0
01 RIS HBARES 41,000 41,000 0
DS+t DUASERIAESHIX 41,000
FUDEEREHRT LS 9,403 7,668 1,735
101 Q124 9,403 7.668 1,735
04 JARZZRS 24 9,403 7.668 1735
OZjnsc2s8asIcy 9,403
oI 2SR EXR (XHH) 264,000 0 264,000
308 X+ EHAIS 01 & 264,000 0 264,000
01 KHXISHHZ AR XS 264,000 0 264,000
BENEETSE I 264,000
U EIEPEET! 6,600,033 6.471.218 218,815
=2 3,539,016
s 35,000
< 3,116,017
BN A BEOIAIL 2 S 140,000 138,413 1,587
= 56,000
= 84,000
307 212+0I & 140,000 138,413 1,587
=2 56,000
= 84,000
10 ABI =X EE 140,000 138,413 1,587
O fOIMASE AL S 140,000
=2 56,000
= 84,000
018 ZOHQI DS X R AHY 45,000 50,000 5,000
=2 36,000
= 9,000
307 21201 & 45,000 50,000 5,000
=2 36,000
= 9,000
PNEENEES 45,000 50,000 A5,000
OO ST DS XS A 45,000




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

el ZOoHI=XIXI2 & (etel: =3
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh

= 36,000
= 9,000

SETZMHANEHE(IL)2EXE 210,000 105,000 105,000
= 120,000
= 90,000

308 XXM SO0IA 210,000 105,000 105,000
= 120,000
S 90,000

01 HXHHBLEES 210,000 105,000 105,000
OSSZMHARSME(IL)2S XA 210,000
= 120,000
= 90,000

ZONOtsTHEXI = 3,369,794 3,260,588 109, 206
= 2,930,256
= 439,538

308 XXM S0IA 3,369,794 3,260,588 109,206
= 2,930,256
S 439,538

01 HXHHBAEES 3,369,794 3,260,588 109,206
O 0HOtSHEX = 3,369,794
= 2,930,256
< 439,538

ZOHOHH S A F X2 358,000 392,560 A34,560
= 250,600
= 107,400

308 AHXIHHMSOI A 358,000 392,560 A 34,560
= 250,600
S 107,400

01 IXNHHBESEXS 358,000 392,560 A 34,560
CEOHOIS S & 358,000
= 250,600
< 107,400

AL EXE 168,084 168,084 0
= 146,160
= 21,924

308 AtXIHMSOI A 168,084 168,084 0
=2 146, 160
S 21,924

01 IXNHHBESEXS 168,084 168,084 0
OAELBNES2NEAALE XA 168,084
= 146,160
= 21,924

NEZHHAXRAEH2H(012) 203,000 203,000 0

308 XA EHM SO0l E 203,000 203,000 0

01 HIXHHBLEEXS 203,000 203,000 0




AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

2l HOoHe!I S XX 2 (ctel: &
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0] & 08 e HIREY
OXIXMEOHI X2 HEHSS (012) 28,000
OXHEOHI X ME 2 (KHA) 175,000
NI EXAMMEH2H(01) 27,192 26,400 792
308 KX SHHMS0IA 27,192 26,400 792
01 AIXHHBANEES 27,192 26,400 792
OO THE XK MEH 2 (01 ) 27,192
OIS XX &AL 938,000 852,500 85,500
308 AtXICHM S 01 & 938,000 852,500 85,500
01 AIXHHBAEES 938,000 852,500 85,500
OJAI 2 XXM ZOH I EH o Al & A E KT R 500,000
JEUSOIIEEEH 2L ALY 9,000
LAl 2 W S At I o K&k S AL 240,000
OnsSHEMHAEES ALY 20,000
OANZE=ZATHEXALHS S 42,000
CIZOHQI D= At 22l At 67,000
OMOHE I B FHYEER0I2Y 60,000
ZOHQI M ASEOHAIE X2 30,000 0 30,000
308 AtXIEHM SO01 ™ 30,000 0 30,000
01 IXNHHBANELS 30,000 0 30,000
X OH QI M A SZEOHAI & K& 30,000
ZOHQIBOIAEEX 2T (01 Y) 83,000 80,000 3,000
= 35,000
& 48,000
307 21zZtol ™ 83,000 80,000 3,000
= 35,000
= 48,000
10 AlRISXIEX 83,000 80,000 3,000
O OHQIHAANLE ST H2H(01) 83,000
2 35,000
L= 48,000
Ol 5 ZONQIDIALE 20| THHA A (0] ) 15,000 30,000 215,000
308 KX SHHSO0IA 15,000 30,000 A 15,000
01 AXNEHHEHEXES 15,000 30,000 A 15,000
CIEOHQIJIAIS RO THA AR (0] 2F) 15,000
O THOIS X SAIHE 22 (01 Y) 184,838 180,000 4,838
308 KX SHHMSOIA 184,838 180,000 4,838
01 IXNHHBHEES 184,838 180,000 4,838
O THII S X HIEH S (01 2) 184,838
NI SESSALXA(01L) 35,000 35,000 0
308 AtXIEHM S 01 & 35,000 35,000 0

_11_
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A A= XD
HE: NI =X E (MBI =X /HLHEX )
CHol: AOHOIEHH 2 S AKX 2

_ _ _ HET
SM-ZFH - HA(SH) - MRAIY - BY (il & OH Ofl At ot HwsZ
307 QI2tol A 20,000 20,000 0
10 MBI SXEE 20,000 20,000 0
OZ&4=2CHHAIESUHSH XA 20,000
ZOHQI DI SBIIHE X2 20,000 20,000 0
307 2120l & 20,000 20,000 0
10 Al S XX 20,000 20,000 0
O IIsZE It K& 20,000
FASTHHASKRSE SR 20,000 20,000 0
307 BI2t0| & 20,000 20,000 0
10 MBI =X 20,000 20,000 0
CORoSIZASTHMI=SX2EE= 20,000
HASTHHASXRSAXH S NS 10,000 0 10,000
307 2120l & 10,000 0 10,000
10 MBI =X 10,000 0 10,000
OZA4=SEHZHSX2SALAM S U2 10,000
ZOI=XIAIE X 34,128,891 32,140,552 1,988,339
= 2,824,404
pJ 500,000
= 18,020, 141
[ 12,784,346
U EATHE A LI SEL 308,750 676,172 367,422
= 237,500
[ 71,250
403 TtXI RIS H2 0l & 308,750 676,172 N367,422
= 237,500
[ 71,250
01 LXISHH K22 = 308,750 676,172 NA367,422
OZOIMATHE AL SES 308,750
= 237,500
[ 71,250
SAZHNASHER2AAS 500,000 0 500,000
Il 500,000
403 XHXI SIS XH=2 0| & 500,000 0 500,000
pJ 500,000
01 LXISHH K22 = 500,000 0 500,000
OsdZZfelsegslass 500,000
pJ 500,000
TR ATHE Al E 2 (01) 1,345,358 1,306, 173 39,185
= 349,285
= 996,073
308 AHXISHHIS Ol & 1,345,358 1,306, 173 39,185
s 349,285
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SN
X XH .
S Tt

el

At = X ot
ZHA=ZXNEST (A EXN/HLASIIE)
ZOHA=SXAIEX A

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
< 996,073
01 RSB A BES 1,345,358 1,306,173 39, 185
DX K XA THEAI L2 (01Y) 1,345,358
= 349,285
= 996,073
X0 O1 A4 24 Al & X| & 22,364,591 20,805,821 1,558,770
= 17,242,109
= 5,122,482
308 XXl EHHI SOl & 22,364,591 20,805,821 1,558,770
= 17,242,109
= 5,122,482
01 RSB A BES 22,364,591 20,805,821 1,558,770
R HQIMEAI L2 (01Y) 22,280,591
= 17,242,109
= 5,038,482
WESICIPCEYNPEETE- £y i 30,000
OX M MBALSLsZ2Y 8,000
RO QI A B A& Y A KA 2 R B 9,000
[ 0H Q1 A8 2 Al 4 ) A KO 4 B X| & 28,000
(0N QI A4 BHAI & &) A XHR AlH| X & 9,000
D OHOI = XIAI & SARI A G 712,656 712,656 0
308 XXl EHHI SOl & 712,656 712,656 0
01 RSB A BES 712,656 712,656 0
(IR OHQI= X Al & S AR A S 712,656
SHHUSEHEX A2 (01Y) 1,400,000 1,300,000 100,000
2 385,000
= 1,015,000
307 ©I2+0| & 1,400,000 1,300,000 100,000
= 385,000
= 1,015,000
10 AtSI = X2 = 1,400,000 1,300,000 100,000
DEHHASSHEX 22 (01Y) 1,400,000
= 385,000
= 1,015,000
A2HNTAZLSY 78,000 78,000 0
308 XXl £t M SO & 78,000 78,000 0
01 RSB A EES 78,000 78,000 0
OYSINEAZEY 78,000
NZHHASE=X 22 (01) 350,000 350,000 0
308 XXl £t M SO0l & 350,000 350,000 0
01 RSHBABES 350,000 350,000 0
OANZZHSS=X 22 (01Y) 350,000
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AT MEISX
HE: HUASXSH(ASISX/HLAHESXR)

ol ZOHOIZ X AlL K| (B9 &)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
ROHQIZEALS AL 2 (0) 437,844 407,000 30,844
308 XX EHH S 01 & 437,844 407,000 30,844
01 HXISHZ A2 ES 437,844 407,000 30,844
ORI EASS A L2 (012) 437,844
ROHQICH|E S AL 2 (0/) 319,59 227,000 92,596
308 XX EHHI S 01 & 319,59 227,000 92,596
01 XIS B A2 ES 319,59 227,000 92,596
mEI ISR T 319,59
RO RS ME IS (01Y) 119,040 96,600 22,440
308 Xt XI £H 7 S 01 & 119,040 9,600 22,440
01 KRS B A2 XS 119,040 96,600 22,440
ORI BSMEINF2(01Y) 119,040
ZOHOIOI 2 THE Al &2 (0Y) 85,700 83,400 2,300
308 XX EHH S OI & 85,700 83,400 2,300
01 KRS B A 2 XS 85,700 83,400 2,300
CR NI 2THE A &2 (0/2) 85,700
LS SHHEI2Y(01Y) 376,741 313,000 63,741
308 XX EHH S 01 & 376,741 313,000 63,741
01 XIS B A2 ES 376,741 313,000 63,741
O4aSAME2Y(01Y) 376,741
ESTOLNYRNAMEI 2 430,080 375,000 55,080
308 X+XIEHHISOI& 430,080 375,000 55,080
01 XIS B A2 ES 430,080 375,000 55,080
OIESZHARNSXNBME S Y 430,080
ROHQI AR SHE 2SR (01) 529,870 515,970 13,900
308 Xt XI £H 7 S 01 & 529,870 515,970 13,900
01 XIS B A2 ES 529,870 515,970 13,900
ORI ARSHEHSYRIR(01Y) 529,870
DOHOI =N BSISE2(01) 170,627 147,627 23,000
= 43,747
= 126,880
403 KX EHHI S K2 0| & 170,627 147,627 23,000
2 43,747
= 126,880
01 XX SRR E 2% 170,627 147,627 23,000
ORI SN AISSLAL (01) 170,627
= 43,747
= 126,880
X OH Q1 XI 4 ASI THEFAI A XEZEXI (01 22) 77,063 77,063 0
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SN

X ZH
o=

el

At = X ot
D HMWSXES(AMSISX/HSEAHSKR)
ZOHA=SXAIEX A

_ _ _ Muo
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
403 XX SHHS =0l & 77,063 77,063 0
01 AtXIEHH A= 2 X 77,063 77,063 0
CIZOHQI KIS ALSI THE Al & X EFXT R 77,063
SAZEHAEX 22 560,000 560,000 0
308 AtXISMS 0l & 560,000 560,000 0
01 HXHHBLEEXS 560,000 560,000 0
OSALEOH SR 22H(012) 560,000
HOHCIMEAN LD ISES 3,362,975 3,609,070 A 246,005
= 2,586,904
& 776,071
403 XXM S AH=01& 3,362,975 3,609,070 A246,005
= 2,586,904
& 776,071
01 AtXIEH X2 E X 3,362,975 3,609,070 A 246,005
OZOHIMEALIISES 3,362,975
= 2,586,904
= 776,071
SHAHEMHUSE=XN2AES 600,000 0 600,000
403 KX &M S AH=01& 600,000 0 600,000
01 HXHH = EX 600,000 0 600,000
OSHEZWUSE=2RN2ES 600,000
XAAS S X MBI AZSHAISISXI/FHAHEXA 34,152,431 25,932,711 8,219,720
= 12,262,918
= 4,636,284
& 17,253,229
KA SXALE =X 22,908,001 18,896,111 4,011,890
= 12,262,918
2 4,636,284
= 6,008,799
KN AA2 A AE AL 11,075,401 10,585,985 489,416
= 9,866,418
L= 1,208,983
308 AtXIEHMIS 0l & 11,075,401 10,585,985 489,416
= 9,866,418
& 1,208,983
01 HXHHBLEELS 11,075,401 10,585,985 489,416
OXI S At AHI A SE THA 11,075,401
= 9,866,418
= 1,208,983
MEXESSE33E=EN2EXH 50,000 50,000 0
307 2I2toI ™ 50,000 50,000 0
10 At S X2 X 50,000 50,000 0




A AR S X1

2 NAASEXNMEIAZSH(AISEX/FHAAHSKH)
S XNSAMS=SXAISE =& (&2 &2
- MEc
SM-BH-H2A(FAH) - MIRAY - BES Of] koK 'oﬂ/'\_WH Hns2

OASIENZ=S225deRsednd 50,000
MBI E 2425 45,000 45,000 0
307 212+01 & 25,000 25,000 0
10 A =2XEX 25,000 25,000 0

OASIE2XE 24 25 25,000
308 AHXISHH SO0 & 20,000 20,000 0
01 AXESHNHBIAMNEELZ 20,000 20,000 0

OAE S X1 &2 5} 20,000
ABIEXALEEAIAH DR 10,000 10,000 0
307 ©I2+0l & 10,000 10,000 0
10 AHEI =SR2 X 10,000 10,000 0

OASIEXAISEBAIAR DS 10,000
HAQUANEISEY 146,575 108,000 38,575

= 112,750

[ 33,825
403 RtXISHSHE01H 146,575 108,000 38,575

= 112,750

[ 33,825
01 ItXISH A= X 146,575 108,000 38,575

ORMNQUAAMI S22 146,575

= 112,750

= 33,825
MIIESXNANEBMAEZ NS 80,000 80,000 0
307 212t01 A 80,000 80,000 0
10 A =X EX 80,000 80,000 0

OASIEXAEEANE S DS 80,000
ZASC AL 150,000 150,000 0
307 ©I12+0| & 150,000 150,000 0
10 AFBIEXIE X 150,000 150,000 0

O3 =SZAtESANE2AS 2SN 150,000
AFS| 2 K| O] 34 A} 30,000 20,000 10,000
307 ©I12+0| & 30,000 20,000 10,000
10 MBI SXIEZ 30,000 20,000 10,000

CJALS S XI 2l & A 30,000
BEX A ALE =2 X AL & 5 30,000 30,000 0
307 ©I2+0l & 30,000 30,000 0
10 AHBI =SR2 X 30,000 30,000 0

CIZ S X A 2 XA &3 30,000
ASISXEBHAHEY 120,000 100,000 20,000
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SN
D KIS ARSI = XIA A
I ENEEPEEESS

I‘I iH
l:}‘ O|

At2| =Xl 2t

SHA

LIS X /FAAHNEXH)

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
307 QI2tol A 120,000 100,000 20,000
10 Al SR E 120,000 100,000 20,000
OAEISXEEME 2 120,000
HRHEEFHAQAALISUS 10,000 10,000 0
307 2120l & 10,000 10,000 0
10 Al S XX 10,000 10,000 0
O3 AEH=EUE 10,000
AL S X2t ALREAI DI L 15,000 8,000 7,000
307 BI2t0| & 15,000 8,000 7,000
10 At S X2 X 15,000 8,000 7,000
CJAMEI S X2 ALKEAIOILE 15,000
MNESTALEAATHLZ | 245,400 196,320 49,080
301 YBtEAS 245,400 196,320 49,080
01 NS 2R X2H23 245,400 196,320 49,080
OAMSSXNAELATNHME S
10,000& * 12,270 *23| 245,400
HAQAANLAATIOAET 25,955 23,010 2,945
308 XHXI RIS Ol & 25,955 23,010 2,945
01 IXHHMBAEES 25,955 23,010 2,945
OZAAAISLATOAZ XA
65,0002 *1,33124%30/100 25,955
MBI STAESARSE 147,600 158,400 10,800
308 XX A SO0l & 147,600 158,400 10,800
0 IXSHHBAEES 147,600 158,400 A 10,800
OHAMQLUALLRHAA LS A K =G 82,080
OXFYag 80,0002 *205% * 128 *30/100 59,040
ORtAx< 40,0002 *160% 122 x30/100 23,040
DAl SX 2 S AL =S 65,520
ox+g 80,0002 * 1562 1284 x30/100 44,928
OA=¢ 40,000 *143% x12& 30/ 100 20,592
ANE ST 2S A 81,000 81,000 0
308 RHXISHHIS Ol & 81,000 81,000 0
01 AIXHHBAEES 81,000 81,000 0
OAL2I S X2 ESHALS
18,000,0002! *157H £ %30/100 81,000
HAQAANE2H(01Y) 6,065,937 5,521,696 544,241
s 4,636,284
[ 1,429,653
308 XtXI A SOl & 6,065,937 5,521,696 544,241




A AR S X1

M XNSASSXAMEIAZSHALZSKI/FHLHSKH)
SRl XLSASSXAIE F=E (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
= 4,636,284
[ 1,429,653
01 IXSHBASES 6,065,937 5,521,696 544,241
OFAMNQLUAIE2H(01) 6,065,937
= 4,636,284
[ 1,429,653
HOIESXBESAHRS 10,000 10,000 0
307 BI2t0I & 10,000 10,000 0
10 At S X2 X 10,000 10,000 0
OFOIII==2XNSESAHR2H 10,000
gy (50) 1,700,000 1,000,000 700,000
306 £ 3 1,700,000 1,000,000 700,000
01 &3 1,700,000 1,000,000 700,000
ogeEnced 1,700,000
d==XNS0JIsE€29Y 12,000 14,000 22,000
201 B2 | 12,000 14,000 22,000
01 At 22IH 8,000 8,000 0
OYuxz 8,000
OZEEXNS0IIsE xRt 8,000
02 SS2gH 4,000 6,000 2,000
(I & By 4,000
OZ=E=EX=s0)IsEMEFREU 4,000
MIEXNFIHRESRIAAIY 2,000 2,000 0
303 &3 2,000 2,000 0
01 ZA3 2,000 2,000 0
AR EXNFEURESSRRAAY 2,000
XA S XS AMSH X 138,000 110,400 27,600
308 AHXISHHIS Ol & 138,000 110,400 27,600
01 IXSHBASES 138,000 110,400 27,600
OXS At 2XEAM2E X2 138,000
MBI ST AH S 3 50,000 0 50,000
308 AHXISHHIS Ol & 50,000 0 50,000
01 IXHHBHEES 50,000 0 50,000
OIS SXIAHIS 3 50,000
MBS XIAIE AT & 15,758 15,300 458
308 XHXIHHI SOl & 15,758 15,300 458
0 RXSHHBAEES 15,758 15,300 458
OAMSISXAIE L AT A2 &I 7,879
OASI S XA E A KR ALY 7,879
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M A3 =X 2t
HE: XAAMSISXMEIAZSH (A SX/HAAHSKE)
Rl S =dSAIEFA EEEEE]
i, _ . dEE =
SAN-ZH-SA(FA) - NFAY - BES (il & OH Oll AF O Hlw &2
OFNEsdRFALet=ZH] 18,030
202 o4l 10,000 3,100 6,900
01 22U bl 10,000 3,100 6,900
O=JIEEERF 0 10,000
301 LEHEA S 48,000 48,000 0
01 AL3| B & X 25l 48,000 48,000 0
O=ItR3 ?I2 48,000
307 @12+01 ™ 50,000 50,000 0
10 At S X2 & 50,000 50,000 0
Oesir=snsus 50,000
308 XXIEMSO0IE 3,296,400 2,673,000 623,400
01 AXEHHESEXS 3,296,400 2,673,000 623,400
OD=gR3MERZASHX 56,400
IE=SESEE R NEE N B S NE= 3,240,000
SHEBEHAMZLXIA 395,000 400,000 A5,000
307 g12+01 ™ 265,000 370,000 A 105,000
10 At S X2 X 265,000 370,000 £105,000
OgaEdexA =N} 150,000
O ZAI=E S = MOILE 65,000
ON3adsadd =0tetEUE 50,000
308 XXM SO0IE 130,000 30,000 100,000
01 AIXESHHMBAEEE 130,000 30,000 100,000
s SEUSEHEIIS 20,000
OFAMSHA EAF2 AL 10,000
ON3e s EH S AL 100,000
SEH2SAEY2 110,000 117,500 AT,500
207 ANl 110,000 110,000 0
01 A2 E A 110,000 110,000 0
OZ4=SC=g2sAt22 110,000
SSAMNEYSESALES 6,550,000 3,055,000 3,495,000
401 AlEHIL 201 900,000 200,000 700,000
01 Al£Hl 900,000 200,000 700,000
OZ4=SCEE3 A2 XS I 900,000
402 It X201 1,650,000 0 1,650,000
01 22t x 1,650,000 0 1,650,000
OZ4d=Sc=g2sH0tnaxg & 350,000
OZ 4SS 2SH OHIH 32 X012 1,300,000
403 XFXIEHM S K= 4,000,000 2,805,000 1,195,000
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SN AEIEX D
o KNAASS XM AZEH(AE SR/ FAHST )
Col: SRMYAYET (Etel: & e
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
01 REXISHAI K2 2 4,000,000 2,805,000 1,195,000
(S2BSUE(RAMSHMNSIEZ)ES
JA= 2,000,000
OFZANSESHAY 500,000
DZASCHE 0I5 21 1,500,000
PRAENZNECXRARAUR 22 100,000 0 100,000
402 QI2EXHZ 0 H 100,000 0 100,000
01 QAR 100,000 0 100,000
OSBLENSEXNSASA LRSI & 100,000
XS AJHI (MBI =X D) (JIEHDIEH) 113,366 108,293 5,073
ol e | 19,037 16,523 2,514
ol e | 19,037 16,523 2,514
101 @1 24| 19,037 16,523 2,514
03 RV HA2EZRE 4 19,037 16,523 2,514
B DR (Ral) 19,037
oJl=a 40,8309 %12 x2522 10,290
o802 10,290,000 *1/12+400% 3,430
O=g+Y 40,8302 *12 x5 2,124
Ot xt4g 40,8302 %12 152 613
@Ink=3=ES:] 60,0002 122 720
OYEEIH| 150,0002 12§ x23] 300
OF o Zalt| 130,000 <12 * 128 1,560
122l 94,329 91,770 2,559
123l 94,329 91,770 2,559
201 Yer2H| 27,929 25,370 2,559
01 Ak 22l 27,929 25,370 2,559
W= 17,329
OJIEAREETRY 14,329
ONEISYTAILS 3,000
BEEL 10,600
OMBIEX LR ET Z AL 10,600
202 04 13,000 13,000 0
01 2LH 01| 13,000 13,000 0
CAEI 2 X R 04| 13,000
203 YR EXH| 25,200 25,200 0
01 J|22YYLFAY| 6,600 6,600 0
0=% 6,600
04 RNSAYRETY| 8,600 18,600 0
(13024015t 350, 00021 *30H 52 A+ 128 12,600
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A ARISX 0
Y LAY (MSI =X (IIEHIIE})
&2l Jl=&Hl (ctel: &
. _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
(1152401 &t 250, 0002 %24 2 A+ 122 6,000
204 XA AH 28,200 28,200 0
01 MU 28,200 28,200 0
O=2% 600,0002! * 1«12 7,200
e, 350,000 x5 12 21,000
HPES(ASISXID) (ASISX/FHAHSKIR) 53,135,470 49,797,412 3,338,058
LHEAHK & 53,135,470 49,797,412 3,338,058
o230 S2YSYIANTH LS 53,135,470 49,797,412 3,338,058
701 JIELBI AN &S 53,135,470 49,797,412 3,338,058
01 JIEIBIHEES 53,135,470 49,797,412 3,338,058
O2A=S=WII2IELIACHIRES 53,135,470
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